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A = SSE / M (variation explained by the model) [(yhat-y-bar)2]
B = SSR (unexplained variation, residuals) [(u-hat)2] = [(yi-yhat)2]
C = SST (Total variation) [(yi – y-bar)2]
[bookmark: _GoBack]D = F- statistic [((SSM/2) / (SSR/7))] = [(MSM / MSR)]
E = P-value for F-statistic [di Ftail(2, 7, 4.52) = 0.05490702]
F = R-squared  [SSE/SST] 
G = Adj, R-squared [1 – SSR/7 * SST/9] = [1- (1- R2)(n-1)/(n-k-1)], where k = number of variables
H = Root MSE, sigma-hat, SER [sqrt(MSR)]
R = sigma-hat sq [(SSE/df residual)]
Std. Error = [sqrt(sigma-hat sq/ Σ(xi –xbar)2)]
image1.emf



                                                                                     
              _cons     -12.3375   25.13639    -0.49   0.639    -71.77561    47.10061
              white     .5096727   .3253856     1.57   0.161    -.2597419    1.279087
highschoolgraduates     .2566031   .4976171     0.52   0.622    -.9200742    1.433281
                                                                                     
        turnout2008        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]
                                                                                     



       Total    425.909435     9  47.3232706           Root MSE      =  5.1536
                                                       Adj R-squared =  0.4388
    Residual    185.919237     7   26.559891           R-squared     =  0.5635
       Model    239.990198     2  119.995099           Prob > F      =  0.0550
                                                       F(  2,     7) =    4.52
      Source         SS       df       MS              Number of obs =      10
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